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1.

I TR 71 fegw Ui AR 7 v ae oA e .

(1) 12 SHar (2) 25 SHaRY (3) 18 IHa (4) 26 SHar!

EO1

The Government of India has decided to celebrate the National Voter's day on

(1) 12" January (2) 25" January (3) 18" January (4) 26t January

2. @ad damunH ATt a3,
(1) e TecammE (2) R g
(3) U= TWREEAE (4) BRI TSRO
The demand for separate Telangana is an issue related to
(1) Linguistic aspiration (2) Regional imbalance
(3) State autonomy (4) Politics of separation
3., YA SAOMIE FHIATE el 9.
(1) 05a9 (2) 1238 (3) 10a9 @4) 1538
The census in India is done after a gap of every
(1) O5years (2) 12years (3) 10years (4) 15years
4, sfleram__ oEa4L
(1) erqaed wata s (2) arE= watq S
(3) AU Taig SIEq (4) Il wae
Speed of sound is
(1) Maximum in metals (2) Maximum in gases
(3) Maximum in liquids (4) Equalin all
5. Smide S 1 TR HSEe! I
(1) IBRD (a0 gHia1 9 faed ) (2) IMF (3 qrorfe)
(3) IDA (TR faehma wem) (4) = T
World Bank is also known as
(1) 1BRD (2) IMF
(3) IDA (4) None of these
6. 2012 = 3yiferdieh T AN Hvft e 7
(1) == (2) W (3) 3wiE (4) FETe
Who hosted the 2012 Olympic games ?
(1) China (2) India (3) England (4) Thailand
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7. Y3 3 9 7 TR,
(1) o (2) woTeE
(3) ITEUTEA W (4) Prgm
NEFA is the old name of
(1) Manipur (2) Meghalaya
(3) Arunachal Pradesh (4) Tripura

8. MRATAI GaSI(eh &AT=AT SIS HRIT 3R,
(1) Grsit gareft et
(2) TSThIT BEAEY AT T Ifeser= 15
(
(

3) arfafaa Tt

4) T Td

The failure of the Public Sector in India is due to
1) Competition from the private sector

(
(2) Political interference and absence of clear objectives
(8) Over staffing
(4) All the above
9. 3;"% Feftel ey forel Taea 04 gavt yesh fissfaom mm am &1 gea: TS
(1) =efeage (2) vsfie Terg
(3) TR IR IEL (4) =TT AT
Gagan Narang who won 04 Gold Medals in Delhi Common Wealth Games is
basically a
(1) Weightlifter (2) Badminton player
(3) Air Rifle Shooter (4) None of these

10. e enfaftis 2012 Ted YRar=a Hed fHaquriared 19 @ e ?
(1) e AR 71+ F&dla (66 forett) TTE= Tas fesfaa.
(2) =l Fm A TEREE I IeF Hesfaet. (51 ferel)
(3) T I I T UEHF Heslae.
(4) AR T FEAE (B0 Foren) T vae frasfa.
Which statement about the medal winners in London Olympics (2012) from India is
incorrect ?
(1) Sushil Kumar won Silver in Wrestling (66 kg)
(2) Mary Kom won Bronze in Boxing (51 kg)
(3) Gagan Narang won Bronze
(4) Yogeshwar Dutt won Silver in Wrestling (60 kg)
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1. Imee fie wrdia el avft e & ufen gt S omen Iqamaredt FritE g ?
(1) 391 T (2) 3TEUN 3T Teht
(3) =) GuTe (4) InHr
Under whose command was the Rani Jhansi Regiment, the women’s regiment of
Azad Hind Fauj ?
(1) Usha Mehata (2) Aruna Asaf Al
(3) Laxmi Sehagal (4) None of these
12. g udR YR 98 TR,
(1) g (2) Py (3) IR (4) FATFHR
The Sun Temple is located near city.
(1) Puri (2) Amritsar (8) Ajmer (4) Kanya Kumari
13. YR § HUS! ek Fivft fafeed o ¢
(1) FEd FHMHTH () . a1 irEEs
(3) Haq gesat (4) sTeER A9
Who wrote the Marathi play Natsamrat ?
(1) Vasant Kanetkar (2) V. V. Shirwadkar
(3) Jaywant Dalvi (4) Bhalchandra Nemade
14. ™. Y. TH. 7= YAW 93 e femeat & gheq Tl AT
(1) &e (2) @ (3) @ (4) +
Students who aspire to take admission to I.I.M. have to appear for
examination.
(1) C.AT. (2) C.E.T. (3) S.E.T. (4) NE.T.
15. M 3TTfOereR 3911 Teheu WiefieTieh! SHioTe] TsaTd T8 7

(1) FAle= (2) aTfreTg

(3) TSI (4) W

In which one of the following states Kaiga nuclear power project is located ?
(1) Karnataka (2) Tamil Nadu |

(3) Guijarat (4) Kerala

TS HIATETS! AR/ SPACE FOR ROUGH WORK

A

P.T.O.



6 O 0

16. I e 24l

37) fEr 1) THaT s

F) TS 2) SRIeferr

F) dAHSG 3) 7z Al

®) ufvag s 4) i a1

H <h g

(11 2 3 4

2 2 3 4 1

3 4 3 2 1

4 3 4 1 2

Match the following :

A) Bihar 1) Mamata Banerjee

B) Guijarat 2) Jaylalita

C) Tamil Nadu 3) Narendra Modi

D) West Bengal 4) Nitish Kumar

A B C D

1n 1 2 3 4

2 2 3 4 1

3 4 3 2 1

4 3 4 1 2
17. Grclieishl FHT TSI Fawed 3R e foaiid el i ?

(1) T (2) wEwTE (3) ™ (4) anit AT

In which one of the following states was the first “Adhar” card issued ?

(1) Guijarat (2) Maharashtra  (3) Assam (4) None of these
18. ‘Y VeU & T N A SvATET GO ST S A o

(1) T AR (2) IR AT

(3) T X (4) Afamm T3t IUAHEH

‘Zero hour' is a Parliamentary procedure to control the executive. If follows

(1) The Presidential address (2) The question hour
(3) The adjournment motion (4) The no confidence motion

HTedl HIATATS! ANT/SPACE FOR ROUGH WORK
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19. YRaW AlamEat e 1T T TR
(1) SArhET 2) T fadfive=
(3) T=THa U qEA (4) =T AT
In India seats are reserved for womenin
(1) Loksabha (2) State Legislative Assemblies
(3) Panchayat Raj Bodies (4) None of these
20. WICiCTdsh! HIvAT Tt T AR ¢
(1) gegarda = (2) =HFEE W
(3) T 4) feRr =
Which of the following is a direct tax ?
(1) Value added tax (2) Professional tax
() Service tax (4) Sales tax |
21. Tt A TSt yTeaT STt
(1) 05 Tegat (2) 053 3) 27 W& (4) TRy ATER
Theatre day is observed on
(1) 05 November (2) 05 June (3) 27 March (4) None of these
22, AR FY ARG e IR R TUHUATEIE) GISAIcTsh! hIvId ST STORETd
(1) 3z.dtsf (2) aFmTh
(3) A=A (4) TIHH
Which of the following instruments is used for checking proper functioning of heart ?
(1) ECG. (2) Sonography
(3) C.T. Scan (4) Glucometer
23. Grefterih! Wit smuma il st o o= S ¢

(1) HEWre (2) 3Ty e

(3) TS (4) TS

Which one of the following is the first state to have been formed on linguistic basis ?
(1) Maharashtra (2) Andhra Pradesh

(3) Guijarat (4) Rajasthan
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24, TR TAeTsTed S @ ATe ?
(1) @d v weeff yie! sy waar fiesrer (1958)
(2) SATATITEA HERTZR a M1 fHaret
 (3) I TeRT ISR STEITY TG TIe 3112 d Teuiet #ff &, TR, €. 2
(4) STTATITEE! Toh YUEhTT FRONTR J&T ShUaTd 3ATe

What is not true of the “Maharashtrian Bharatratna” ?
(1) The first one to be awarded was Maharshee Dhondo Keshav Karve (1958)

(2) So far two singers have been bestowed with this honour
(3) The only industrialist honoured with the award Shree J. R. D. Tata
(4) So far one award has been given posthumous
25. yfag ik s« T 3R,
(1) Ffe® (2) TS WY
(8) TeRId (4) mE™
The famous Gir forests are located in
(1) Karnataka (2) Madhya Pradesh
(8) Guijarat (4) Assam

26. ft. facmetE SymgETETET wiv fauae @t AR ?
A) TF I d IV T B
B) WENI™ eI TV I 26/ 11 1 TeAATE] Fecd e e Wiefl HUS e,
C) = d YUYW Iass IGM T3t &
D) deHat creaTehe TrHteT foerTs T 3T,
E) Seal & Fum gl degt =g fage 3 399 @ ' .
(1) %« C) (2) @ad D)
(3) %o E) (4) TR T A TR
Which statement is not true of Shri. Vilasrao Deshmukh ?
A) At one time he was Babhalgaon Sarpanch.
) He had to give up Chief Ministership of Maharashtra due to 26/11 terror attack.
) [Initially he was Minister, Heavy Industries at the centre.
) Then he had the portfolio of Rural Development.
) When he passed away he had the charge of Science and Technology.
1) Only C) (2) Only D)
(3) Only E) (4) No option is correct

mO O w
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27. HYF TgET &Y I HIvd MR 7

1) AT MR (2) ST igar § geefaar
) TR AR (4) It AT

What i.s the prime objective of United Nations ?

(1) International Trade (2) International Peace and Security

(3) International Health (4) None of these ‘
28. ‘T < forrameft weiftrd o,

(1) Teg=gaE™ 2) vt

(3) e (4) TafERer

‘SEZ is related with 'tHe development of

(1) Fishing (2) Agriculture

(3) Industries (4) Environment

29. w@refie wivrd! faum @l omea ?

A) W@m@ma@%ﬁﬂ@wliﬂlwwmmm N Jaar ‘I 3a

1 fafee gam.

B) mmwmm
C) -mara ‘N’ 3t 7oy Jefied warg,
D) mEmd ‘I Fe AT | W,
)
)

(1) AFC) (2) A),B)aC)
(3) A)aD) (4) TR TR
Which of the following statements are true ?

A) An Indian Badminton player and a Tennis player get identified on whether ‘N’
comes first or ‘I’ comes first in their namns.

B) Both are men.

C) If'N’ comes first in the name, its Badminton player.

D) If‘I' comes later its Tennis player.

(1) A)andC) (2) A),B)andC)

(8) A)andD) (4) No statementis true

He=aT RIHTETS! AT/ SPACE FOR ROUGH WORK
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30. WA Sivrd! fum w3 1red ¢
1) RS WEH RehIUg HeR SHag I 21 e 1 .
2) WTaTa 21 AR T it faa wev o g,
3) gEETERTn 21 AT A1 fawht SRR [EEe o e .
(1) 1)mfor2) | (2) 2)amfu3)
(3) 1) amfir3) (4) 1), 2) 3T 3)
Which among the following are the correct statements ?

Hockey wizard of India Major Dhyanchand was born on 215! August.

N =

In India 215t August is celebrated as the National Sports Day.

w

1) and 2) ~ (2) 2)and 3)
1) and 3) (4) 1),2)and3)

(1

)
)
) Normally Arjun awards get awarded on 218! August.
)
(3)

31. ol feciean AquiieRidsh! v STquTe Iaten waM fioial o1 ?

123456 1234586
W 357567 @ 355767
g 123458 w 884321
8355677 765753
Which of the following are in descending order of their value ?
123456 123456
M 357567 @ 355767
@ 123456 w 852321
355677 765753

32, fwehe=a dfgean 10 wewmed, omar=l GUed) 3.2 Bidl. T el 40 YeHoed 282 |ral qui

FOATETS], ararh Tl ferdt st ?
(1) 6.25 (2) 6.5
(8) 6.75 4) 7
In the first 10 overs of a cricket game, the run rate was 3.2. What should be the run
rate in the remaining 40 overs to reach the target of 282 runs ?
(1) 6.25 (2) 6.5
(3) 6.75 4) 7

FHeed] RIITMTS! ARM/SPACE FOR ROUGH WORK
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33. I Sidh) e T T 3 3 ST I e THTe i, o wede v e, el
AT IO ?
(1) 83 (2) 63 (3) 64 (4) 65
A number of 2 digits has 3 as its unit digit and the sum of the digits is % of the
number itself. Then the no. is

(1) 83 (2) 63 (3) 64 (4) 65

34. U YT TURTSTAT TR GO0 F W ST, AT RIOTONSmIor Sl URvT TEAr 80 R, =
T TR EEAT 200 e, T AR e fohdt ?
(1) 20 (2) 30 (3) 50 (4) 60
There are deer and peacocks in a zoo. Their head count is 80. However, the legs
are 200 in number. How many peacocks are there in the zoo ?
(1) 20 @) 30 (3) 50 (4) 60

- 35. UH ME 50 .. gt T8 AT grad R, @ U SnTeT 1€ fAfHera ur ared /X ST At

AR ford) ?
(1) 1500 HX (2) 2000 HiX
(3) 2500 wiex ' (4) 3000 Hew

A train travelling at a speed of 50 kms per hour covers a tunnel in two and half
minutes. What is the approximate length of the tunnel ?

(1) 1500 meter (2) 2000 meter
(8) 2500 meter (4) 3000 meter

36. Giear:

(B -
V3 -1 V3 +1 '
(1) 15 (2 0 (3) 14 (4) 1
Solve :

8]

V3-1 V3 +1

=7
(1) 15 2) 0 3) 14 4) 1
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37. e GEIET 25% (TFF) S 20 T8 o A1 G&=1 40% ot 7
(1) 30 (2) 32
(3) 35 (4) 31
25% of a number is 20 what is 40% of that number ?
(1) 30 ‘ (2) 32
(3) 35 (4) 31
2 7 9 1 :
38. 3§+6§+4£+5+7§mwmmmwmﬁwm,@
e faesa ?
N5 . 4 o 2
(1) 735 (@ 3 @ 17 4 z
What smallest fraction should be added 1o 3=+ 6—+4—+5+7—= to mak
at smallest fraction shou € adaded 1o 3 12 35 120 O make
the sum a whole number ?
n 5 o 1 o 7 o 2
(1) 33 @ 3 @) 33 4 3
39. wioﬁw@mm&mg@aﬁ.ﬁwwmm%mma%

mwmﬁm.waawwm%m@ﬁmam
Yareft IEdrd. YR TAHHET od Segl Talad, deal {eaned 248 areh feets T&drd. @

AT AT {eaned fohdl yareht yame w{a 8 ?
(1) 555 (2) 465
(3) 564 (4) 666

A train starts with its full passenger capacity. At the first station, it % of them alight

1
2
reaching the next station, the passengers are found to be 248. With how many
passengers did the train start ?

(1) 555 (2) 465

(3) 564 (4) 666

while 96 board the train. Atthe nextit 5 of the total alight and 12 board the train. On

HoeAT HTHTATS! ATTT/SPACE FOR ROUGH WORK
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40. R x-%=«/§T m’m[x2+%] (X+%) <t fobma a2,

X
(1) 115 (2) 116 (3 114 (4) 120

1 1
If x—— = /21, then the value of [Xz +_2J [X”L;} is
X X

(1) 115 (2) 116 8) 114 (4) 120

EO1

41. wrela gHiEE Fod Fen.

12x12+08x08+24x0.8
(1) 2 (2 4 (3) 3 (4) 16
The value of
12x12+08x08+24x08 is
(1) 2 2 4 3) 3 (4) 16
42. AT gt agH STqUie i ?
181517 7
16°19°21'8
13 15 17 7
1B @ 19 @ 57 4 3
Which of the following fractions is the smallest ?
1315 17 7
16'19'21'8
13 15 17 7
™) 15 @ 15 @ 57 @ 3
43. A TTRE WA TEM WEAT IV ST 14 5 U1 SR ST ?
(1) 140 (2) 126
(3) 112 (4) =IVTATE I A AT
Find the least number of 3 digits which is exactly divisible by 14 ?
(1) 140 (2) 126
(3) 112 (4) None of the options
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44,

14 A O

TS HIUHT AT Tui=T ; &1 T ettt faer. Stereft Tud) wm STTaet Jeived SHH ded!.
AT TSVt AT Ol el =1 ATeaImia go9e Bet. aX = gore (er) Te fohet ?
(1) 2 (2 3 3) 4 @) 5

A man gave away —;— of his property to his daughter and the remaining to his sons,

to be equally divided among them. If the share of each son is double that of the
daughter, then the number of sons are

(1) 2 (@) 3 (3) 4 (4) 5

45,

‘7’ AT 4 7 YT AT, F1ehl 3 3. S 2 & 1 4 3 YT T ekl TRl 1S ?

(1) 1 2 2 3 3 4) 6

When X is divided by 4, the remainder is 3. What is the remainder when 2X is
divided by 4 ?

(1 1 (2) 2 3) 3 (4) 6

46.

Tt srdidiel wen faftre Fremm= oo s, oot el st g s, i s
g forerea fowmoft 9 3.
51
3
119( 7| 2 | 585
6
102
(1) 18 2) 17 3) 16 (4) 15

The numbers in the given figure follows some rule. Find the number from given
alternatives, which will occupy correctly in the place of (7).

51
3
1191 7| 2 ( 585
6
102
(1) 18 (2) 17 (3) 16 4) 15

ool HIHTATS! AT/ SPACE FOR ROUGH WORK
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47. X & Z S=7 39, qor W derr 3om 31, W BT Y et 39 97 V S 3on 3R, Y €1 Z Uer 39 99

X &7 SO AR, T TaTd I 0T ¢
(MY 2 X (3) W 4 Vv

X is tallerthan Z, but shorterthan W. Wis taller than Y, but shorterthan V. Y is taller
than Z, but shorter than X. Then who is the tollest among them ?

(1Y (2) X (3) W (4) Vv

48.

gt 9 ATE ToRTI=aT e fRRaT ST STIR. el I AT JRMTTTT Hed it geawm
TR, A ATRCT TeawrT=T foeg, TS ShivraT T 318

(1) fewn (2) fre (3) we (4) =

Six surfaces of a cube are of six different colours. The upper surface is white. The

green surface is between blue and red. The orange surface is between white and
black. Which will be the colour of the surface opposite to orage ?

(1) Green (2) Blue (3) White (4) Red

49,

T foem ficieft 1Ra. EEd 9 STIER Fredcl! ATRE. AT STTHHIETET Had Uk TIHT SET
AR, A TR 771y et

e - 1) v e gey ST

2) el yeauT ATFR TR
ITAIH - |. Td TEY YedleR TR
1. Tet gow arfererrd st
(1) e TGHH | TR TR (2) o A (| ST TR
(3) ATAH | T || - FU AT (4) IgEE | & || St It AE

Two statements are given. From these two statements two conclusions are derived.

About the conclusions, only one of the alternatives is correct. Select the correct
alternative.

Statements — 1) All graduates are male.
2) Some graduates are officers.
Conclusions — |. All males are graduate
Il. Some males are officers.
(1) Only conclusion [ is correct (2) Only conclusion Il is correct

(8) Conclusions | & Il both are correct  (4) Conclusions | & Il both are not correct
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50. e g FAM Ao g W e varmE Free.
4, 8,9, 27,16,64, 25,125,7,7
(1) 36,169 (2) 36,216 (3) 34,216 (4) 36,343
Find the next two terms in the given number series, from the alternatives given.
4, 8, 9, 27,16,64, 25,125,7,7?
(1) 36,169 (2) 36,216 (3) 34,216 (4) 36,343

51. “FORM" & ¥is¢ “DMTO” &1 Tehawerr foifeett Smal. @ “STOP” &1 W88 Hhivredn Hehd &
fofee s 7
(1) QUQR (2) QRQR (3) RQMN (4) QRQV
If “FORM” is coded as “DMTQO” ; then how will “STOP” be coded ?
(1) QUQR (2) QRQR (3) RQMN (4) QRQvV

52. ST “BAD’ B I1s€ Hiohideh WA 5 — 4 — 7 3797 foifeatr at “NATION” 1 Sreerard diekfass i

IO 7
(1) 177-4-23-12-19-17 (2) 17-4-22-11-18-17
(3) 17-4-23-12-18-17 @4) 17-4-22-12-18-17

If “BAD” is coded as 5 — 4 — 7 ; how will you code the word “NATION” ?
(1) 177-4-23-12-19-17 (2) 17-4-22-11-18-17
8 17-4-23-12-18-17 4) 17-4-22-12-18-17

53. W@relte Al quf wtvamEnal, fermman s, oot vttt T g e
26,50,82,7,170
(1) 122 (2) 110 3) 127 (4) 152
Find the missing number in the series, from the given alternatives.
26,50,82,7,170
(1) 122 (2) 110 (3) 127 (4) 152

HTAT HTHTATE! SIFTT/SPACE FOR ROUGH WORK
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54. YTEATIE, 0SS WTEATSR AT T6Y S WTedgeh ATdie Ty A1 Wb e ST 3Tt hIvTelt 7

(1) @ (2) OOCD (3) @ (4) @)

Select the diagram which represents the relationship best between Professors,
Senior Professors and male Senior Professors.

(1) @ (@) OO<> (3) @ (4) @)

55. fordt TRIG 4 TR ABCD TSR T 39dT1 Idiel Sishe A d B TshushT=a1 ATf=eard TR
T 7 '
(1) 9 (2 12 (3) 14 (4) 18
In how many ways can 4 books ABCD be arrayed vertically one above the other if
book A cannot be put together with book B ?

(1) 9 (@ 12 (3) 14 (4) 18

56. T RIS 3ET 391 el i AT fewn 3ot a9 v fesn ufvem s srenm oftferdig efaor

fom w7 a9 ? ‘
(1) 3N | (2) 3=
(3) ay (4) = T wIg I AT

A map was so placed that south east becomes north, north east becomes west and
so on. What will south become ?
(1) North (2) North east

~ (3) North west (4) None of the above

57. 2M ASEX A 9 B FIEl vafl sEet TR, e A S'ie vafl B HTSTERIE YT TEvTd qeeaTdict U

=1 TSR AT ATI0 S1EE) U B3

1S B i Wt TEUAIT wieT qEEATIh! U STHTAT AT @ SR U= GO 2.

&1 A 9 B T forclt waft a1 ?

(1) 73amforg (2) 333 (3) 59 (4) THE T F A

There are some birds on each of the two trees A and B.

The birds on A say to those on B that if one of you come to our tree we will both be
equal.

The birds on B say to those on A that instead if one of you come to us we will be
double your strength. How many birds are there on Aand B ?

(1) 7and 9 (2) 3and3 (8) 5and9 (4) No option is correct

AT HIHTETS! AWTT/SPACE FOR ROUGH WORK
A P.T.O.
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58. YT dgeer=AT SR AR HEAT AR, Ufeedl IF Ig2, 91 9R el Imm fafite g
IS T IR AT ATeAeAT TR, o= FasTdiel SeAta-gr=an S, e GArgan Jomd

7 1 2
1 6 4
(1) 45 (2) 48 (3) 46 (4) 47

To the outside of each circle there are four numbers. From these numbers new
numbers are obtained by some formula within the first two circles. Adopting the

same formula, select the number in place of question mark, in the third circle, from
the given alternatives.

7 1 ' 2
1 6 4

(1) 45 (2) 48 (3) 46 (4) 47

59, Toh! HINIT=AT ST TR TaCYT fededn 3ed. e 4 <7 {5%g 3G FI07dT 37 1dd 7

(1) (2 ) 4

(1) 1 (2 2 (3) 3 (4) 5
Four different postions of a dice are shown. Which number will be, to the opposite of 4 ?

Q) =) ) @

(1) 1 2 2 (3) 3

Heed] HIRTETET ANM/SPACE FOR ROUGH WORK
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60.

T AT T T ARG ST AT Y, AR, Tl S 79 e afere
FANET 5 TUHI FT AR, TEAD ISR 99 13 T8 JEI Tger=d1 15, AT SHEAS S 79
fepeft ar8@ 7

(1) 22 (2) 34 (3) 20 (4) 21

Today, Rahul’s age is %3 of his father’s age. The age of Rahul's mother is 5 years

less than that of his father. If today the age of Rahul is 13 years, what must have
been the age of Rahul’'s mother, at the time of his birth ?

(1) 22 (2) 34 (3) 20 (4) 21

61.

T ITHRS HIVIE AT, I F O TATHEY BUET AR FESIT IAT FISCAT 0T TR,
N 9 U0 TreATHed TSieh AR, 31 & EAuer=al AR TR, i wea AR, T A o
oty AT fohd) =afa ota ?

(1) 1 (@ 2 (3) 3 (4) 4

Eight friends are watching a cricket match, sitting in a row. Bharat has been sitting

on the right hand side of Ashok, while no one is sitting on the right of Bharat. Faraha

is between Ela and Ganesh. Ganesh is on the right side of Hussain. Ashok is
between Bharat and Dhanraj. Ela is neighbour of Dhanraj. Chandrika is at the end.
Then how many persons are there between Ashok and Ganesh ?

(1) 1 (@) 2 (3) 3 (4) 4

62.

3 U9 2004 & a@ S gman 38d @ 3 9™ 2011 A1 feawft vt 9w 3@ ¢
(1) Hmar (2) q¥ar (3) WTZAR (4) TEER

If Monday falls on 3@ March 2004, what day will it be on 3'd March 2011 ?
(1) Monday (2) Wednesday (3) Tuesday (4) Thursday

63.

A 1 fosmTom=ar gaa 5 for Y. g Siauar B ? fo&or oA1e. B =1 Swtan 5 .. fauR C
fosmor s’ 9 C = qaen 7 foh. 1. atawar D R fomr R, T A oniftr D wefie wies T fonelt 7
(1) 17 f.1fi. (2) 13 f&. . (3) 12T (4) 15 .4

B is situated at a distance of 5 kms to the East of A. Cis at a distance of 5 kms to the
North of B. D is at a distance of 7 kms to the East of C. Then what is the straight
distance between Aand D ?

(1) 17 kms (2) 13kms (3) 12kms (4) 15 kms

HTeqT HIUTHTS! ATT/SPACE FOR ROUGH WORK

A

P.T.O.
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64. 50 Y G TH TOTaT=AT TRET SIS I 4 0 e AT T Fehrean Saudt 3 0 FHidet
ST, I T e Al foem o ofdd 144 o e, @ i e s A

(1) 36

(3) 44 (4) 38

In a mathematics exam. of 50 questions, every right answer is given 4 marks, while

3 marks are deducted for every wrong answer. Unnati solved all the questions and

obtained 144 marks. How many questions did she solve correctly ?

(1) 36

(3) 44 (4) 38

65. YRIT AT ITEATH HEA, 10,000 %. Ieq~1 JAAAT T FZATAT IF0T F SFTAV S (1

T Tt 7

(1) 1500
(3) 3500

1 3

mooOm>»
o

%

(2) 6500
(4) 4500

Studying the figure below, find out the total expenses of a family excluding education
and entertainment, with the income of Rs. 10,000.

(1) 1500
(3) 3500

A = Food

B = House Rent
C = Entertainment
D = Medicines

E = Education

(2) 6500
(4) 4500

Hoed] HTHTHTA! ART/SPACE FOR ROUGH WORK
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66. ATFdldie et AT TE v FE AT STV HeuTEed A A B = R
Fivre ? 9 ggiy faer

e

120

/5\
Y

(1) 12,20 (2) 15,20 (3) 30,20 (4) 20,25

Observe the relationship between alphabets and numbers in the figure below what
are the values of A and B ? Select the correct alternative.

120

/2\
Y

(1) 12,20 (@) 15,20 8) 30,20 (4) 20,25

67. WIefid Ahdia e farer= St Fivid) e 35 ? Jng vty e

1 2 3 4 5 6 7 8
55 76 81 ?
5 3 7 5 9 7 11 9
(1) 105 2) 151 (3) 70 (4) 86

Which number will come in place of the question mark in the following figure ?
Select the correct alternative.

1 2 3 4 5 6 7 8
55 76 81 ?
5 3 7 5 9 7 11 9

(1) 105 (2) 151 (3 70 (4) 86

FHETAT HIRTHTS AW/ SPACE FOR ROUGH WORK
A P.T.O.
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68. UfeeaT WA FTE! R e STgT gE=a T o1 YIeai™ Tohd faaiel AATRd. Sedsh w8 U

| (V1)

MOTOR

PASTE

LORRY

EARLY

P A ST E a1 Y5391 Hohd 1T ¢
(1) 5 1 18 12 25

(2) 1315 20 15 18

(3) 1215 18 18 25

(4 16 1 19 20 5

@ | (Tehd)

5 1 18 12 25
13 15 20 15 18
12 15 18 18 25
16 1 19 20 5

In the first column there are some words. In the second column, the same words are

given in a code. Each number stands for a particular letter. The words in the first

column and the codes in the second column are not in the same order.

Column | (words)

MOTOR

PASTE

LORRY

EARLY
Whichisthecode for PASTE?
(1 5 1 18 12 25

(2) 1315 20 15 18

(8 12 15 18 18 25

(4) 16 1 19 20 5

Column Il (Codes)
5 1 18 12 25
13 15 20 15 18
12 15 18 18 25
16 1 19 20 5

HeedT HIATATS! ATTT/SPACE FOR ROUGH WORK
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69. @, # %, $, © T GHd GIEATHTO AT AT ATRTITA T AT
) A @ BTN, A ¥ B Y& oW e

i) A# BTEUN, ATl B Uaar et 31T A g1 B 98T o' AT,

i) A % B T8N, A &1 B S&T HisT 7TE.

iv) A ©BTEU, A EB U @e e, A B B U HIgT e
v) A $ BTaUN, A ¥ B Y1 &g A1el, A 8 B TEet AT
IR faum oTft Qe FTeete! A T fediet oTred. @ vty e,

foam i)
)
)
)
ST :

ii
ifi
iv

I

I

)
)
)

J#H
HoT
T$R
R%F
J#R
R#F
J#T

(1) B A 1) R 312
(3) e AN |1) TR AR

The codes @, #, %, $, © are used in different meanings as follows :

i) A @ Bmeans, Aisnot less than B.

(2) e AEM [) T 1) SR 3R
(4) AN |) T I1) A TR

i) A#Bmeans, Ais not equal to B and A is not less than B.
iii) A % B means, A is not greater than B.

iv) A ©B means, Ais not less than B, A is not greater than B.

v) A $ Bmeans, Ais notless than B, A is not equal to B.

Four statements and three conclusions from them are given. Choose the correct

alternative
Statements : i

Conclusions : |
1

)
)
)
iv)
)
)
1))

(1) Only conclusion |) is correct
(3) Only conclusion lll) is correct

J#H
HoT
T$R
R%F
J#R
R#F
JHT

EO1

(2) Only conclusions l) and |} are correct

(4) Only conclusions I} and Ill) are correct

THTIT HIHTATS] ATT/SPACE FOR ROUGH WORK

A

P.T.O.
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70. TH e aafar wRaASHOKE = ws F X 8 T P 5 311 fafgen wmat. &= wma

MOLUTY &2 faftar ¥a ?
(1) RT12 Z 25 24 @ RT12 Z Y 25
B) RT12 25 Z 26 @ RT12 Z25 Y

In a particular code language AS HO K E is writtenas F X 8 T P 5. How will
MOLUTY be written in that particular language code ?

(1) RT12 Z 25 24 2 RT 12 Z Y 25

@ RT12 25 Z 26 @4 RT12 225 Y
71. AR, A T IO THAH T ST Neqrd Sdeard 3t el fee 7

(1) " ey (2) e fehro

(3) W@ W (4) Tt wowE A

Shrinagar, Leh and Jammu if connected almost form

(1) an equilateral triangle (2) aright angled triangle

(8) a straight line (4) none of the above

72. GIATAYS HIUT T F-GE T GIHE 3R 7

(1) Fue (2) FIeRTR (3) THEEEE! (4) wmE@@
Which of the following towns is located on the confluence of Krishna-Panchaganga
rivers ?

(1) Karad (2) Kolhapur (3) Narsobachiwadi  (4) Satara
73. Gl FIVE B LI 36 S gatd el 3R 7

A) HeE-T9

B) STeR-=T

C) AemEEE-ISIey

D) SUTE-3&R

E) feeet-sa@

(1 A (2) C 3 D @) E

Which pair of stations has the shortest rail distance between them ?
A) Bombay-Pune

B) Bangalore-Chennai

C) Ahmedabad-Vadodara

D) Bhopal-Indore

E) Delhi-Jaipur

(1) A (2) C (3 D 4) E

FHoed! HTATETS! FAITT/SPACE FOR ROUGH WORK
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74. fedied vRRIRE=AT FhTeId e (Shaded) wewr Sft. A, Farri=an warER @it S
T T grgaat ? :

(1) Am | (2) Bs
(3) Aw 4) Cs

in the given map of Maharashtra the shaded area indicates which of the following
climatic regions according to G. T. Trewartha ?

TS HIATATA! AT/ SPACE FOR ROUGH WORK
A P.T.O.
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75. @rel it weRTseTde geia e St v w9 Iatear HAH SO 3R 7
(1) FBYAT, eeIZTE, TR, Toel
(2) BT, Tee, HEERTA, BOAZTS
(3) HBYIT, TEITDIH, SIS, Hleed
(4) FSBYTE, Ao, TCTIE, FETTva

Which of the following sequences in descending order of the heights of mountain
peaks in Maharashtra is correct ?

) Kalsubai, Harishchandragad, Mahabaleshwar, Salher

1
52) Kalsubai, Salher, Mahabaleshwar, Harishchandragad
(3) Kalsubai, Mahabaleshwar, Harishchandragad, Salher
(4) Kalsubai, Salher, Harishchandragad, Mahabaleshwar
76. TERTLE @icictish! hivrer fhearek Uaa (IATT) gaen Evan e 3R ?
(1) e (2) famme (3) TS (4) TEE-Sifem
Which of the following forts in Maharashtra is provided with Ropeway facility ?
(1) Rajgad (2) Sinhagad (3) Raigad (4) Murud-Janjira
77. TEHEE TrEUUeT ) SREETT T TsA gER TRt 7
(1) 5 (2) 10 (3) 15 (4) 20
Around how many states have population less than that of Greater Bombay ?
(1) 5 (2) 10 3) 15 (4) 20
78. @relta wor fSern qei=an feamas frest e fmfor Set Teren e ?
1) fagd 5) "N
2) ST 6) arfm
3) mefrEt 7) 1
4) AR 8) femeft
iy :
(1) Taegt feran ST (2) -Igtem fehar arfyrg
(3) e fFar A (4) g fdhar famett
Which among the following districts has not been carved out of the original district ?
1) Sindhudurga 5) Nandurbar
2) Jalna 6) Washim
3) Gadchiroli 7) Beed
4) Latur 8) Hingoli
Options :
(1) Sindhudurga or Jalna (2) Nandurbar or Washim

(3) Gadchiroli or Latur (4) Beed or Hingoli

HEedT HIHTATS! FATTT/SPACE FOR ROUGH WORK
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79. T | T IR || mefiE I vrser< fHae e Sitewn o 9 @) e v giekfaes st ste

TR § |,
Ricil
CuLERSIE)
A) ¥3

il vV I i

1)
)
i)

V)

grat il

(Feem)

EINED
Rreil
CIRUICIC
EIEE

Match List | with List Il and select correct answer using the code given below :

Listl
(Religion Centre)
A) Paithan
B) Mahur
C) Panchavati
D) Gangakhed
A B C D

)

Iy
V)

Listll
(District)
Nasik
Parbhani
Aurangabad
Nanded

THodT THIATATE! ATT/SPACE FOR ROUGH WORK

A

P.T.O.
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80. fedean weRTT=a FehTeT Tee (Shaded) eI HIVIET YT a4 Ir@aal ?

4*

In the given map of Maharashtra shaded area indicates which of the following type
of forest ?

e

(1) Semievergreen forest

(2) Wet and dry deciduous forest
(3) Mangrove forest

(4) Thorny bushes

HoedT hIATHTE! AHTT/SPACE FOR ROUGH WORK
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81.

TERTEIAIE UfYem H1e ITeewrErd! Wielid °91e (Passes) afiviaed Iuiehe FHM Al

EO1

Arrange the passes from South to North which are used to cross the Western ghats

in Maharashtra.

(1) Phondaghat, Ambaghat, Borghat, Thalghat
(2) Ambaghat, F’hondaghat, Borghat, Thalghat
(3) Borghat, Ambaghat, Thalghat, Phondaghat
(4) Thalghat, Borghat, Ambaghat, Phondaghat

82.

HETETd Il @I e eh! ShivTe [eaeTd qaTarqd Sicfierar shel SITd 7

(1) =g, T, SSW, M

(2) WER, WS, e, TSRt

(3) ¥R, Wew, Mifear, Fuf

(4) IER, FEAETS, ATEHT, Tl

Which of the following districts in Maharashtra have developed tank irrigation ?
(1) Chandrapur, Nagpur, Bhandara, Gondia

2) Chandrapur, Bhandara, Gondia, Gadchiroli

(2)
(3) Chandrapur, Bhandara, Gondia, Wardha
(4) Chandrapur, Yavatmul, Amravati, Wardha

83.

WA IV @S ITgEa™ T e 3Tessd ?

(1) °m 2) = (3) ARG (4) gTE
Which of the following minerals are found mainly in Archean Rocks ?

(1) Gold (2) Silver (3) lron-ore (4) Limestone

84.

foygrt Reandia & SeUme Suer Wieie aTqaeh! v g fafd 2 ?
(1) gt ARSIECIESRUIES]
(3) SeEh, SaETse (4) It ad

Which of the following minerals are exported to Japan from Reddy Port of Sindhudurg

district ?
(1) lron-ore (2) lron-ore, Manganese
(8) Iron-ore, Bauxite (4) All the above

HeSIT HTHTATS! AT/ SPACE FOR ROUGH WORK

A

P.T.O.
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85. WIciid WIS ShivdT HH SULHET SeTUIhe sRIa TR 7
(1) I, IR, I, TS (2) TG, TS, AT, TS
(3) TEE, N, TS, TS (4) TEE, ST, ETE, ST
Which of the following sequence of the creeks from north to south is correct ?
(1) Vasai, Jaitapur, Deogad, Jaigad (2) Vasai, Jaigad, Jaitapur, Deogad
(3) Vasai, Jaitapur, Jaigad, Deogad (4) Vasai, Jaigad, Deogad, Jaitapur

86. WTSIA YTqdeh! IV U ST (laterite) WehId Tl ?

(1) Tafas (2) Wt (3) ARERS (4) sTFETEZ
Which of the following minerals is found in laterite rocks ?
(1) Silica (2) Manganese (3) Iron-ore (4) Bauxite
87. MY SIS A1
et | Tt il
(SrefE=m =) (Foezm)
A) o ) ofaTETe
B) gwTm ) @ram
C) oTeuad! ) =RieeT
D) SiIRaret V) Jadares
A B C D
(1) m Il I \Y
2 N I \Y) I
3) | v Il Il
4) v I I Il
Match the following :
Listl List Il
(Irrigation Project) (District)
A) Dhom l) Aurangabad
B) Dudhganga ) Satara
C) Arunavati lI)  Kolhapur
D) Jayakwadi V)  Yeotmal
A B C D
(1) M Il I v
2 1] v I
(3) | v Hi I}
4) v | I Il

HedT HHTETE! AN/ SPACE FOR ROUGH WORK
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88. WIAIIYeh! VAT STATGER Tehed WERTETEIA TTd W31 SAta= Johed 3R 7
(1) (2) T (3) IS (4) STIFaTE
Which of the following irrigation projects is the largest irrigation project in
Maharashtra ?
(1) Koyna (2) Bhatsa (8) Ujani (4) Jayakwadi
89. WIeIcTish! HERTSCT T v Sieeetd 80 Tahuer S wieirera 39ar (lift irrigation) YTt
IR 7
(1) | (2) HIeaTR (3) wEw (4) @t
Which of the following districts in Maharashtra has more than 80 percent irrigation
of lift irrigation type ?
(1) Solapur (@) Kolhapur (3) Satara (4) Sangli
90. I SISl AT
et | (fareet) Tt || (ReR)
A) dTEETE ) TS
B) fierrg Iy gt
C) gume iy 3o
D) W IV) @ramT
A B C D
(1) \% 1l I
(2 v il I 1]
3) 1 Il v i
4) I Il \Y
Match the following :
List | (Forts) Listll (Districts)
A) Pandavgad ) Raigad
B) Vijaydurg [) Sindhudurg
C) Sudhagad ) Thane
D) Bhairavgad IV) Satara
A B C D
(1 i v i I
(2 v Il I 1]
3) 1 It \Y 1]
4) m I Il v

HeedT HIATATS! WAHT/SPACE FOR ROUGH WORK

A

P.T.O.
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91. Tacica TERIST=AT Feh1d ST (shaded) eI WiefieTdsh! shivTeT HiehT=aT IcaTed Y31 ergaal ?
r~ 1

(1) <ad, I, T8 (2) gD, Tg, T
(3) 8, AL, HahT (4) @y, SER1, 5B

In the given map and Maharashtra shaded area indicates area of production of
which of the following crops ?

5

(1) Jawar, Bajra, Wheat (2) Rice, Wheat, Bajra
(3) Wheat, Bajra, Corn (4) Cotton, Jawar, Rice

HeedT HIHTHTST ATT/SPACE FOR ROUGH WORK
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92, WERNUINIAI WicieTdeh shivreat fNeeara Hatee qet 3mmed ¢

(1) W=/ (2) g (3) I (4) HIcETR

Which of the following districts in Maharashtra has the largest number of tanks ?

(1) Bhandara (2) Nagpur (3) Chandrapur  (4) Kolhapur

EO1

93. WENINTdIel WicfIctieh! 10T WehT=aT Ge=t IcdTeehdl Faid il T8 7
(1) smft (2) TR (3) T
Which of the following types of the soils in Maharashtra has the lowest
productivity ?

(4) TOATH FIE AT

(1) Lateritic (2) Regur (3) Alluvial (4) None of the above
94. A ST AT ;
Tt | (=) Treht (| (T3=mTom)
A) HETEH G FY! famdis ) et
B) usTeE <vr@ FH faemdts Iy Tl
C) . TR uEd Hiev 3y faamdis ) ooy
D) WreaTe FYt farmdis IV)  TehieT
A B C D
(1) 1 I Il \Y
2 v [ I I
(3) 1l \% ! 1]
4) \% Il I
Match the following :
List | (University) List 1l (Location)
A) Mahatma Phule Agriculture University ) Dapoli
B) Punjabraoc Deshmukh Agriculture University I)  Rahuri
C) Dr. Balasaheb Sawant Konkan 1) Parbhani
Agriculture University
D) Marathwada Agriculture University IV) Akola

A B C D
) I v
Yy IV nd
3) Il \VA 1l
Yoo |

el HIATATS! ART/SPACE FOR ROUGH WORK
A

P.T.O.
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95. WENTT=A] HedTd Wreitel faerrer faeam =4
A) forT TuiRR FERTeTd 2001 R 2011 wdid ffad widt sraad. (Soma)

Consider the following statements in terms of Maharashtra

A) Census 2011 shows slight improvement over the 2001 census in the sex ratio.
B) Literacy percentage has gone up in 2011 from that in 2001.

(1
(2
3
(4

A) is correct B) is not
B) is correct A) is not
Both A) and B) are correct

)
)
)
)
)
)

Neither A) nor B) is correct

96. WENRTSZ=AT Y3l Yevd feder 9 et nig=ara guwd feram qomm
(1) 12°C d16°C (2) 16°C @ 20°C
(3) 20°C d 22°C (4) 8°C d12°C
Average minimum temperature on the plateau region of Maharashtra in the month
of Décember and January is
(1) 12°Cto 16°C (2) 16°Cto20°C
(3) 20°Cto22°C (4) 8°Cto12°C

G SNCUU SN S M w —

(1) werd SR (2) HTEHIS TR

(3) STATEE SR (4) 3FSaT S

Which of the following mountain ranges divide Godavari-Bhima river basins ?
(1) Mahadeo Range (2) Satmal Range

(3) Balaghat Range (4) Ajantha Range -

HesdT hINTATS! ARTT/SPACE FOR ROUGH WORK
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98. et hIvd forerT = o ?

1) SieETseT T aTqt ieyfufam I g
STFaTEe fave, JIEs 9 Ndie 3dTeATdel JTRArd.
3) GHR UH-TEHY WA STETRed Ice HENId e,
4) WERIRITG STFETEE FIeaTq, TS, HTeft, |, TR A Tgesd.
5) 3 TSI HEHRI=AT o e IrTedt Tefte Siarse 3Teesd.
(1) 2 (2) 3 (3 5 (4) None
Which of the following statements is incorrect ?
Bauxite is mainly used in Aluminium production.
Bauxite is also used in cement, iron and steel production.

1)

2)

3) Almost one-fifth of Bauxite found in India is in Maharashtra.

4) In Maharashtra Bauxite is found in Kolhapur, Raigad, Sangli, Satara and

\_/\9

EO1

Ratnagiri.
5) The other states have better quality Bauxite than that in Maharashtra.
(1 2 (2 3 3 5 (4) None
99. I TN AT
T | (®B) T 1| (IeaTEe: T3
A) FAt ) TeTEnT
B) | Il) 3R
C) wwet ) =&
D) wcilTe V) sreftemT
A B Cc D
(1 W I li v
2 |1 Il v i
(3) 1l [ I v
@) v I |

Match the following :

List | (Fruits) List I (Producing Areas)

A) Banana I} Malwan
B) Cashewnut I} Srirampur
C) Sweetlemon )y Vasai
D) Watermelon IV) Alibag
A B Cc D
(1) W I I \Y)
2 | Il \Y Il
@) | I Il v
4) IV Il Il I

T HIHTHTS! SARTT/SPACE FOR ROUGH WORK

A

P.T.O.
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'100. oIt HeRT=AT TG TR SgEaH! fSR 1, 2, 3, 4 3T VR ST TR, AT Wied el
FHIVTAT Y ST HATE 7

(
(
(
(4) dromTes, forgaeU, TN, TEERYER

In the given map of Maharashtra four hilistations labeled 1, 2, 3, 4. Which of the
following order is correct ?

| &
(1) Matheran, Mahabaleshwar, Toranmal, Chikhaldara
(2) Matheran, Mahabaleshwar, Chikhaldara, Toranmal
(3) Chikhaldara, Toranmal, Mahabaleshwar, Matheran
(4) Toranmal, Chikhaldara, Matheran, Mahabaleshwar
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101. wfeefi=n srfdrRr arfrfem, 2005 =1 38w
(1) wfeclian TR s'e
(2) ardSfe gTferERoT=T TR e wifeet ger fisvarsh wvadt g
(3) WIS TIRFOT=aT FHHMES YHETiehdl I SoT=eR! I o
4) aba &a
The object of Right to Information Act, 2005 is
(1) To provide right to information
(2) To secure access to information under the control of public authority
(3) To bring transparency and accountability in functioning of public authority
(4) All the above
102. wiiedrET arleeRR AfafaEm, 2005 wHia wa 2(e) J9R *Haw W=’ SREAHE Hom=
THEY B AR
(1) SRS g (2) WRATE W =i
(3) wRar Ueud @) T g
As per Section 2(e) of Right to Information Act, 2005 who does not come under the
meaning of “Competent Authority” ?
(1) Speaker of House of people (2) Chief Justice of India
(3) President of India (4) Chief Minister of State
103. wifkd=n TR stfafrm, 2005 weie @i S %o g stfafm srfafrrda srearemn
feTeRTaTE wehst forame feasht srmem ot ?
(1) U6 (2) a9 12 (3) +eH 13 (4) HaH 15
Which of the following Sections of Right to Information Act, 2005 came into force on
the one hundred and twentieth day of enactment of this Act ?
(1) Section 6 (2) Section 12 (3) Section 13 (4) Section 15
104. wfeeitan STl s1Rifa=m, 2005 <1 waw 7 FER gaarERe gRferda et s

EARIEDH] feagmn IR,

(1) 10 =g (2) 15 feam (3) 25 feam (4) 30 feam

Under Section 7 of Right to Information Act, 2005 the time limit under general
circumstances to get the information is of days.

(1) 10days (2) 15days (3) 25days (4) 30days

HESIT HIHTHTS! AR/ SPACE FOR ROUGH WORK
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105. wifeefien Afer siffm, 2005 wefte wem 12 J9R HEE g wiiedl Tgaarar R
TTrrE ST gitd el Erefierdshl v g Teand ¢

(1) gwagam™

(2) ol faaeft get e

(3) WRAN T =i

(4) WA} AHMERTT helel T el Hie

As per Section 12 of the Right to Information Act, 2005 among the following is not a

member of recommendation committee for appointment to the post of Central Chief
Information Commissioner.

(1) Prime Minister

(2) Leader of opposition in the Lok Sabha

(3) Chief Justice of India

(4) Union Cabinet Minister nominated by the Prime Minister

106. wifedi=n tfoerr sififem, 2005 woia e 17(3) T9R TSI T4 & Hifkd! Taad
GTEeTdeh! ShIvTeaT HTOTEET YETaE FH1 2T IehdTd ¢
(1) <R TRER 91iYd
(2) R 3Te. T STTTHTEE AT St STFvaTd e
(3) AT TE FAATATE VAT ST TSR hid T8
(4) e ¥a
As per Section 17(3) of the Right to Information Act, 2005 the State Chief Information
Commissioner can be removed by the Governor of a state on the following grounds.
(1) He is adjudged as an insolvent
(2)
(8) He is engaged in any paid employment outside the duties of his office
(4) All the above

He is convicted for an offence of moral turpitude

107. wfiraere! wifed] waTen = S a1 Wes 91 gaurda oT8d @ o fRdt Jera ot s ?
(1) 45Tm&d (2) 407EA
(3) 48draTa (4) 60 drT@
In how much time information sought has to be given if it concerns the life or liberty
of a person ?
(1) 45 hours (2) 40 hours
(3) 48 hours (4) 60 hours

HeedT hHIWTHTS! ATTT/SPACE FOR ROUGH WORK
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108. wifed=n i erfafaam, 2005 wefie Fem 19 JOR W anfedt tfem=aren fofame =fea
el T s ordielia s i) onier e i,
(1) 15 (2) 20 @) 25 4) 30
As per Section 19 of the Right to Information Act, 2005 any person who is aggrieved
by the decision of Public Information Officer can make an appeal to the Appellate
Authority within days. _
(1) 15 . (2) 20 (3) 25 4) 30
109. WWW@WWWWW ?
(1) e (2) = (3) wte (4) w1
In which country did the Right to Information Act come into existence first ?
(1) England (@) China (3) Sweden (4) France
110. wifE=n erfeerr arfifgm, 2005 weid woreEn Sommed miigdi=a gemr g Ts YR
AT foeiet 3178 7
(1) =aH 1 (2) weH 2
(8) +cH 4 (4) HH 3
Under which Section of Right to Information Act, 2005 Right of Information is
guaranteed to every ciﬁzen of India ?
(1) Section 1 (2) Section 2
(3) Section 4 (4) Section 3
111, e sifrerm srfifrm, 2005 @1 TR Fowen rEE s firsrd ?

(1) 15 A/ 2005 (2) 29 A< 2005

(3) 15 S 2005 (4) 30 HAfFei=t 2005

On which date the Right to Information Act, 2005 got assent of the President ?
(1) 15t March 2005 (2) 29t August 2005

(3) 15" June 2005 (4) 30t October 2005

THeedl HIHTETST ARTT/SPACE FOR ROUGH WORK
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112.  wfedan 1ftrer stferfoem, 2005 wem 6(3) (i) T ferdh feaama w7 tfeerr @mees sheten o1t
ST SRR &34 o} T8 s IS Qe 7
(1) 10 ez (2) 5 feagm
(3) 8 fesmma (4) 15 T
In how many days the application made to Public Authority for information is to be
transferred to another Public Authority who holds it under the Section 6(3) (i) of
Right to Information Act, 2005 ?
(1) Within 10 days (2) Within 5 days
(3) Within 8 days (4) Within 15 days
113, wifedren stferemraredt mfedt=h wrmoft wuft s o ?
A) @R/ faga
B) i
(1) A) SRR 3718 7L B) &l
(2) B) SR T8 (g A) AT
(3) A) 9 B) T8 I 3TRA
(4) 7 A) SUsT T B)
Request for information under the Right to Information Act could be
A) Through electronic means
B) Oral
(1) A)isright, B) is not
(2) B)isright, A)is not
(3) Both A) and B) are right
(4) Both A) and B) are incorrect
114.  mifedTen STfeRR 1w, 2005 = ™ 19 9 @7 3usham 1 wefie fofar= foeg foredt faawma

A 3T LT A 7
(1) 120 =gm (2) 60 Teaam
(3) 90 feagm (4) 30 feagm

What is the period of second appeal against the decision under sub-section (1) of
Section 19 of the Right to Information Act, 2005 ?

(1) 120 days (2) 60 days
(3) 90 days (4) 30 days

FHeed1 HTATATI! ATTT/SPACE FOR ROUGH WORK
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115.  @refiet foum aegdes aran it g faum o) & vt sauaa e fomn.

) S ATt AR Gerer Wied! <O AR TR Wi AT, A SRR Hifed!
I$uda 5. 250/ Wi feasht oig ®. 25,000 Va1 SR TR ST S ITHTE Iehdl.
SH-HTfet STRER Wit ST STRETTTaEg giM Hieid SIS vkl
HFd F) AT 8) TH
HEFG ) AT ) T
Tt g3 fFum 9oy amRa
), 9) M B) ¥
Read the statements carefully and find out the true statements :

a) When the P10 wilifully refuses to give information then the Information
Commission may impose a penalty of Rs. 250/ day of default however in all not
exceeding Rs. 25,000.

b) Along with the penalty Information Commission may recommend disciplinary
action against PIO.

¢) When disciplinary action is taken penalty can not be recovered.

d) PIO has aright to go to the Supreme Court against the order of the Information

Commission.

Only c) and d) are true

2) Only a) and b) are true

3) Allthe statements are true

4) a), b)andd) are true

o 3o

A~ e
W N =

S

1

~— et e

(
(
(
(

116, TS Jafas Tems 9 1 Saan ¢
(1) RO ITEAH AT HARL TR et
(2) R IMEFH U1 Tt AAToft qut Shed?
(3) TN & TN 1A T Y WRATAT THeR I3 ST el
(4) A FIoRE FHROT T AT

Why did Gandhiji call off Individual Satyagraha Movement ?

(1) Asthe Governments came out with “August Offer”

(2) Asthe demand of Purna Swaraj was accepted by the Government
(8) Asthe war was on and Japan was at the doorstep of India

(4) None of the above

HoedT HTHTETE FTTT/SPACE FOR ROUGH WORK
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117, AFTAT AR~ STTEIGHT ST 10T FeUrdTd 7

(1) 3e. §1. 3. ged (2) w@nfl TR

(3) =M. 4 (4) YfsTsga 3

Who is said to be the father of Labour Movement of Nagpur ?

(1) Ad. B. R. Mandlekar (2) Swami Shankaranand
(3) Dr.Munje (4) Dhundirajpant Thengdi

118. TIUTSS TTOIY SATTHUHT SHetedT S aT=a] Se=aT T3] ®YU 19 S 7

(1) fawrmafaataa (2) TR

(3) Tmde (4) TE FRE T

A Marathi version of Shakespeare’s Hamlet by Gopal Ganesh Agarkar is titled as
(1) Vikasvilasit (2) Gyanprakash

(3) Hamlet (4) High Caste Woman

119. WA S HIfa ATl ?
A) sfiHate s = o, HBEid X 3% Sl
B) WTEehI=T S[HTITHT TRE.

C) ZUSIHT I YaTat A9v[ 7 <.
(1) Fad B) (2) ¥ C)
(3) B)aC) (4) TR YT A TR

What was not demanded by the moderates ?

Reduction in land revenue, abolition of Salt tax.

Protection against exploitation from money lenders.

Not to appoint British on high posts.

Only B) (2) Only C)

B) and C) (4) No option is correct

A
B
C
1
3

— —
N N e e’

120. AT [EHHT 4 T AfTwRe Bredl. Td Wielid HIvTd 916 FHIare Tegd] ?
(1) &S (2) @edf
(3) wEPR (4) T T
Lokmanya Tilak had adopted four principles. Which among the following was not
one of them ?
(1) Swaraj (2) Swadeshi
(3) Sahakar (4) National Education

HEedT hINTATS! JATT/SPACE FOR ROUGH WORK
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(1)

43
FEREENER AP E R T e i LR Lt R
TG FHAH TR (2) AT AT

(3) wgfer du=sht @) ThmEH

(1)
3)

was the first Muslim President of Indian National Congress.
Abdul Kalam Azad (2) Maulana Azad
Badruddin Tayabjee (4) Hakim Khan

EO1

122.

‘aﬁwm’%ﬁmmﬁﬁ?

A)
)
)
D)
(1)
3)

O

TR Tehdl & T Tiasfao.

TRy, afesprr g Wy g7 a1 ehreu T ARaFETa S0,
SIoET TR 3TTR tieg] el Saud gt

A) 3 C) ) A),B) aC)
B), C) aD) (4) A),B),C) aD)

What were the aims of Abhinav Bharat ?

o 0O m »

1
3

—~—

)
)
)
)
)
)

To secure weapons from abroad by smuggling them.

To preach anti British thoughts among soldiers.

To create public opinion through Swadeshi, boycott and national education.

Resort to guerilla tactics whenever possible.
A) and C) (2) A),B)andC)
B), C) and D) (4) A),B), C)andD)

123.

A T e SR RIS TTETE Tl e,

[EEELES (2) AR
TEct (4) Arehfgaam!
helped Swami Dayanand Saraswati in establishing ‘Arya Samaj'.
Vivekanand (2) Agarkar
Gokhale (4) Lokhitvadi

HESIT HITATS! ATTT/SPACE FOR ROUGH WORK
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124. wERW e gemE A% e
(1) TR, @R, wTerEo
(2) eI, "reaw, e
(3) fRrier, TR, 3
(4) e, Areravl, IR
At Maharashtra, there were Salt Satyagraha at
(1) Sangamner, Ratnagiri, Malvan
(2) Wadala, Malvan, Shiroda
(8) Shiroda, Sangamner, Thane
(4) Kalyan, Malvan, Shiroda
125. ‘fomrdis FrEr Fivrer it RIeRefiat e o1 ?
(1) & wHwe (2) TR FHimH
(3) Teft whftrer (4) g9 FhEE
‘University Act’ was passed on the basis of the recommendations made by
(1) Hunter Commission (2) Sandior Commission
(3) Rally Commission (4) Wood's Commission
126. @rcliadsh! Fivft ‘Age of Consent Act, 1891° Tefiel TTaTgaR qeft=an feamer=ar dra =i

HimT 10 aviasd 12 9 wvamg faty Far ?

(1) wErRd Midg T

(2) @t f@wrg

(3) =@ TR Raw

(4) THTEH TE

Who opposed the ‘Age of Consent Act 1891’ which proposed to raise the
marriageable age for girls from ten to twelve ?

1) Mahadev Govind Ranade
2)
3) Bal Gangadhar Tilak
4)

(
( Swami Vivekanand
(
(

Gopal Krishna Gokhale

HSIT KTATATS! ANTT/SPACE FOR ROUGH WORK
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127. SHEREA 9 T 3 Tt 1921 wed 2ot A9 I AT .

On 3" April 1921 at Devli, Jankidevi Bajaj delivered a speech on
1
2

(1) Satipratha and Foeticide

(2) No-co-operation and Swadeshi

(3) Women Education and Development
)

(4) Dowry system and Suppression of women

128. 3T 3fEa ¢ Y ilw (eTres 1920) 3 ufeet steae wivT 81d 7
(1) <. o, S
(2) o TS
(3) AT AU
(4) Towiem em
Who was the First President of All India Trade Union Congress in 1920 ?
(1) J. M. Sengupta
(2) Diwan Chamanlal
(3) Lala Lajpatrai
(4) Chittranjan Das

129. ‘T worTen fmiv ) R wvEeE e ot F e T e a7t TEe.
(1) weren mef (2) AierEht
(3) foga fim (4) T AR
Who said “God has not created Man but Man has created God” ?
(1) Mahatma Gandhi (2) Ambedkar
(3) Vitthal Shinde (4) Gopal Agarkar

wHEeq] ShTATATS! ARTT/SPACE FOR ROUGH WORK
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130. s ool
A q
) Treremmen 1) TR
F) GUTF 2) TS TSt
F) g 3) fawremstt feagma
¥) TS IR 4) STEATET TR
A q * g
(1 1 2 3 4
2 3 1 4 2
3) 3 4 1 2
4) 4 3 2 1
Match the following :
A B
A) Nibandhamala 1) Agarkar
B) Sudharak 2) Suryaji Krishnaji
C) Darpan 3) Vishnushastri Chiplunkar
D) Mumbai Akhabar 4) Balshastri Jambhekar
A B C D
(1) 1 2 3 4
(2 3 1 4 2
(3) 3 4 1 2
4) 4 3 2 1

P T

131. Fot Rasa wdia gar T ?

2) IR Uiferg wat

3) WREE F9 qan

4) IR g g

(1) FaIa3) (2) Fad 4)

(3) 3)a4) (4) TR woTh AT

Which is not an All India Service ?
Indian Administrative Service

—
~—

2) Indian Police Service

3) Indian Forest Service

4) Indian Postal Service

(1) Only 3) (2) Only 4)

(3) 3)and4) (4) None of the above

HESIT RIHTHTST AWTT/SPACE FOR ROUGH WORK
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132.

TRUTAT T Feted] TERT, YEH FRHENEddid SAreagar 19 55 183 (Hfa)
Frenid BIoT=a1 ST Qe feTiesh) HIvET vy 1] Bl ?

(1) w=h, o), gemataa

2) wift, geawst, 3u wsh

(3) wh

(4) e, 39 gemE, aa

Which of the following options is an appropriate choice for the constitution of Cabinet

as defined under Maharashtra Government Rules of Business approved by the
Governor ? ’

(1) Ministers, State Ministers, Chief Secretary

(2) Ministers, Chief Minister, Deputy Ministers

(3) Ministers

(4) Chief Minister, Deputy Chief Minister, Secretaries

133.

YHATEAT U &0 Qi aTeael 8.

(1) . TR yER

(2) T 1. . T

(3) 3. . FuaTh

(4) TER FgoTE ued

Who was the President of the National Flag Committee ?
(1) Dr. Rajendra Prasad

(2) Dr.B. R. Ambedkar

(3) Shri J. B. Kriplani

(4) Sardar Vallabhabhai Patel

134.

e A TFRT=AT TR ST GTATeAdsh! Hivat 3T ?

(1) FEHES 2) FHFN UEs

(3) TSI 98 (4) TS

Which one of the following is the guardian of Fundamental Rights ?
(1) Legislature (2) Executive

(3) Political Parties (4) Judiciary

Hed1 HIATATS! ART/SPACE FOR ROUGH WORK
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135. WA GiIUFN Sad 356 M Heid TR 7
) TsyTErTE Rt
¥) uea TSl faum ey starflae
F) G WEY kg BIoleEd
?) Fdm = Rifdfeea
(1) 31)3=) (2) %) 3T (8) &) a=) (4) 1) 3%
Article 356 of the Constitution of India is concerned with
A) Appointment of Governor
) Dissolving of State Assembly
) Centralization of a Federation
D) Formation of a new State
)

A) and C) (@ C)andD) (3) B)and Q) (4) A)and D)

136. TAYUT™ GAIAUH] AT SHEER AGaTd ¢

(1) wes (2) Tt
(3) T=FEMI (4) ArRET
To whom among the following is the Prime Minister responsible ?
(1) Council of Minister . (2) President
(3) Rajyasabha (4) Loksabha
137.  RAT=HT TSTEI=A] JeqOaa e feman.

) FEASTEl SIS

q) SO qSFHeAT

F) TASH TSI

T) MRl TS

(1) =) 3%) () ®)a%s) (3) wF3) (4) w5 4)

Preamble of the Constitution of India reflects the influence of

A) Constitution of Canada

B) Constitution of Japan

C) Constitution of England

D) Constitution of America

() A)andC) (2) C)andD) (3) Only D) (4) Only B)
THood] HINTETS! ATTT/SPACE FOR ROUGH WORK
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138. waT=a1 Ugue e fars ryeariien fafe deeehe B e

TS U STHal.

(1) Fe SAHET

(2) Had TG

(3) AFET T TG |

(4) SHGT, TSIEIT AT T Taemas

EO1

=1 et

The President of India is elected indirectly by the electoral college consisting of the

elected members of '
(1) Only Loksabha

(2) Only Rajyasabha

(3) Loksabha and Rajyasabha

(4)

Loksabha, Rajyasabha and State Legislative Assemblies

- 139.

TR T Tl 16 FHIN Heiora T8 ?

(1) TSIRRATTE TRfesis T 3 qord Fasd

(2) TEE waed 9 TRER

(3) w=ar gliefise g graan sy

(4) Tengg AR

Article 16 of the Indian Constitution deals with
(1) Directive Principles and Fundamental Duties
(2) Fundamental Duties and Rights

)
(3) Ninth Schedule and Seventh Schedule
(4) Fundamental Rights

140.

T SRET SEETE & YehdTd

(1) JaqaHT=a1 FeedT

(2) YRAT=AT Y& <AEEATT= Yoo

(3) <Hraa=ar fyrerEa

(4) T AT

President can dissolve the Loksabha on the
(1) Advice of the Prime Minister

(2) Advice of the Chief Justice of India

(

(

)
3) Recommendation of the Loksabha
4) None of these

el HIUTATE! ATT/SPACE FOR ROUGH WORK
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AnteRie: I OIS ForedT ST A, T YEH Fdsd =T YT 3.
(1) wiusz (2) S
(8) et (4) wat= =reE

Directive Principles are expectations of the Government where as the fundamental
duties are the expectations of the

(1) Cabinet (2) People
(3) Representatives (4) Supreme Court

142, VR Togue Gkl NihAd @Teiierdehl shiumn ST STaal ¢

(1) #eR—R 2) T3 fadivea
(3) @ (4) =T
Which of the following are involved in the amendment of the Indian Constitution ?
(1) Voters (2) State Legislatures
(3) Parliament (4) Judiciary
143, SEen A :
) arde wid 1) Fago gamon
F) EHREAT A= 2) IR
F) HATH A 3) Wi raTar
3) .. aRge widt 4) 3 g T=IGIY

) A-1,9-2,%-3,3-4
) A-2,9-1,F—4,8-3

(@) -3,9-4,F-2,8—1
)

4) A-3,§-4,F-1,8-2

Match the following :

A) Dandekar Samiti 1) Election Reforms

B) Sarkariya Commission 2) Corruption

C) Santanam Samiti 3) Regional Imbalance
D) V. M. Tarkunde Samiti 4) Central-State Relations

(1) A-1,B-2,C~3,D-4
@) A-2,B-1,C-4,D-3
(3) A~3,B—4,C-2,D—1
4 A-3,B-4,C—-1,D-2

a1 HINTHTS! AT/ SPACE FOR ROUGH WORK
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144. Grclicrdsht fHagush STTERT v HR A TG 7
(1) Wder I TR ! (2) INEAT AHTHA F0
(3) WARH HETE TG (4) FTER wiEar AvFE
Which of the following tasks are not performed by the Election Commission ?
(1) Preparing the Electoral Rolls (2) Nominating the candidates
(8) Setting up polling booths (4) Implementing the model code of conduct
145, e ARSI AT YeHa FUImEEl TS 37
(1) | sgaq (2) TN FEHT
(3) wrerferT wikan (4) TEE= SEHAT
To remove the judge of the Supreme Court requires
(1) Simple Majority (2) Majority of Loksabha
(8) Process of Impeachement (4) Majority of Parliament
146. T fafives favaTEewia e %% wehd,
(1) S T geidd (2) S gHId] g
(3) FOATST T (4) IrIehy e
The state legislature can make laws with regard to subjects in
(1) The state list only {2) The concurrent list only
(3) Both the above list (4) None of these
147. fogm Tves 9e5 U0 9G4 IV 3 SR Iard ?

A) e U it

B) TSIUTAThEd THURR

C) TRy waer gurqy fagd

D) uedr HaeR wEE Fagd

(1) B)aiviC) (2) B)3fTD) (3) C)37ivD) (4) A)sforD)
From which two institutions equal number of representatives come to the Legislative
Council ?

A) Local Self Authorities

B) Appointed by the Governor

C) Elected by the Teachers Constituency

D) Elected by the Graduate Constituency

(1) B)andC) (2) B)andD) (3) C)andD) (4) A)andD)

THeSdT HTHTHTS! ART/SPACE FOR ROUGH WORK
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148. WicTAYh! A TSI SHI0d Ush AT 378 7

(1) Wa afifes T 2R (2) W wHfRe TsT IR
(3) YA NTSTTITE UsT AR (4) ¥Rd gAY T 3R
Which one of the following is a feature of Indian Constitution ?
(1) India is religious state (2) Indiais secular state
(3) India is capitalist state (4) Indiais totalitarian state
149. foarmafoest TR g o s fauresn v e afera e,
(1) = fcfare (2) 2 el
(3) T e (4) o =gut
The strength of a Vidhan Parishad cannot be more than strength of
the respective Vidhan Sabha.
1 1 2 2
(M) 3 @ 3
3 1 4 S
® 3 @ 3
150. Tmad! gemed ELRICIR: LI GRS
(1) 35 (2) 47
(3) 66 (4) 97
The concurrent list consists of
(1) 35 subjects (2) 47 subjects
(3) 66 subjects (4) 97 subjects

151. ST FHYRYH ey i UgaT g HeheE G YRR STHd.
(1) 21 % T 9 uraaan Iar
(2) 3T FId U J5eA Ghid 3 araaar aay
(3) <1 e fewmaT yrean
(4) ST UG U A A &0
What does the term simplex mean in data communication ?
(1) Data is sentin only one direction
(2) Data is sentin only one direction at a time

(3) Data is sent in both directions
(4) Data is sentto more than one recipients

TSI HIHTATE! WTT/SPACE FOR ROUGH WORK
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152.

TSt Shena & e et Qs faamdieme & A fuddian v TReR aan e o
= v g e R (33) TedtY TRreweT o i ST S Tad . § ad
O THHHIIN THT JUITCHISHTe HaTe |iadrd. & NeaE! T Tois Sawdie Sioam, s
FEFM AT I AT T/ I AT ATETIHRAT/ TS T 9. 7 Y G HE
GTATTIh! 3R

(1) i g NEw (2) IR YA

(3) fardioeis fFe T (4) wEHYT Yo TEE

Eby Friedmann and his students at University of Rochesterb, have developed a new
generation of Computer Processor which optimizes all key processing functions vertically,
through multiple layers of Processors, where all layers interact like a single system. The

design also accounts for different impedences from chip to chip, different operating
speeds and different power requirements. This latest computer processor is

(1) 3-D Computer Processor (2) Array Processor
(3) Vertical Vector Processor (4) Multi-layer Parallel Processor

153.

TETR 7 YR F2ah T Y 3R,

(1) Uide T Uige deas (2) whle g Jeas
(3) e wiag Yead (4) oS Tl e
The internet is an example of

(1) A pointto point network (2) A circuit switched network
(3) A packet switched network (4) A message switched network

154.

firer & mrshiaTre faegr oo sedt e it i o, St daete sewd J0N AT,
B wF Al TES, 9@ T FEH YiageHs SRUTE] AR, S ST wRIHE gEae e
(X86, X64, ARM) & . IWEd T |IEH J TUE TUI90 TecATd shotel! 3TRd. & SR

e Tt — V Erfaet  vfae el S oTR. R AR iaiees IcdTed @it ietdeh] ShuTer
AT 3772 ?

(1) FAES Fgei (2) #rewr
(3) FewLn (4) ATHT TIAIH
MIDORI is an offshoot of Microsoft Research’s singularity operating system which will
be launched soon. This is a lightweight portable operating system which is designed to
run directly on native hardware (X86, X64, ARM). In this system the tools and libraries

are completely automated, and will be hosted on the Windows Hyper — V Hypervisor.
This Microsoft product is based on

(1) Cloud based computing (2) Grid computing
(3) Clustering (4) Mainframe technology
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155. 91 32 stz oy Wt :igmHe gd i weh (1) r@ard w1 femwen TRUTATA.
(1) &= T (2) TP FieHre
(3) ffire siewhe (4) qIF
In 32 bit ip addressing scheme all ‘1’s represent
(1) This computer (2) Direct broadcast
(3) Limited broadcast (4) Loop back

156. ~émmmmmw,émmmmwmémﬂ
& v Wt F WHEK TRV 1 AT, € W0 WA hivie ST TredTd 7
(1) FaTeH 0T
(2) = HURR
(3) F W
(4) FAIE TR
The computers which are not limited to two states (0 and 1), which work on a million
computations at once and which encode information as atoms, ions, photons or electrons

and their respective control devices that are working together to act as computer memory

and a processor, are called as
(1) Quantum computers

(2) Nano computers

(3) Super computers

(

4) Cloud computers

157. A /. aieem= /1 e I FHIaY THal.
(1) iRy = (2) 3T’ TH
(3) ZEUr TR (4) FIFIH TR
Which layer is not present on TCP/IP model ?
(1) Application layer (2) Internetlayer
(8) Transport layer (4) Presentation layer

HeeAT HIHTATE ATT/SPACE FOR ROUGH WORK
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158.

R (& WG TS 3R SOmey &~ fomor (waa-Y) fo/wfomn @ o=fie frooms
T B AT (FHeterT) FE et s it o wR vt R e
ol = fodiwor e . 81 T e I wfomr witeta (H R & ) fog wea
(1) i TR TSI (2) T 3heE ZwRAl
(3) TR T (4) fesieat - foror e
is a computer based technology where X-ray images obtained from

pencil-beam scan at various angles are stored in and analyzed by a minicomputer.
The computer then redraws the picture on a CRT.

(1) Magnetic Resonance Imaging (2) Positron Emission Tomography
(83) Computer Tomography (4) Digital Radiology

159.

TSI T I Sad URd Follee sU dqoe GEHe A R IR,
(1) T 2) 3-TgH (3) 3-T& (4) e

Which of the following is the name of India’s first cloud based tablet solution for
school students launched recently ?

(1) Akash (2) e-tutor (3) e-guru (4) Galaxy

160.

71 T TfiTee Torehie SumnT 1R St SwiTeheter Hifed e - ATeT UG R
HTATTS! AGd FLd1. T TTFHIER ATEATTR ST TTEIedt Joi 3 Heaferd = &el/ 3T I
TeHTUT S STehdTd. fashi & faaom, fadie eTeame, siemiass 3 e, TqsIees s, ToreT
Toreeror €1 1 3@ SR W/ IRl shles eTRd.

(1) OLTP

(2) OLAP

(3) ERGONOMICS (Zaifie)

(4) Tofa e a3 (fedism aud fawdin)

is a typical computer application that aliows the user to interactively
analyze the data. This technology enables the managers to perform powerful
comparison and trend analysis. The application areas include sales and marketing,

financial reporting, budgeting and planning, manpower planning, quality analysis
etc.

1) OLTP

2) OLAP

3) ERGONOMICS

4) Decision Support System

——~ o~ o~ e—

HosAT KIATATS! ANTT/SPACE FOR ROUGH WORK

A

P.T.O.



EO01

161.

56 1

TR T T FIeH Fiehel ST AT ?

(1) o & wsi (2) Eeeiriem

(3) I (4) wFg-3

Which of the following activities has been made possible by computer in medical
activity ?

(1) Open heart surgery (2) Vaccination

(3) Brain scan (4) X-ray

162.

2. 7. 24, 2000 U gaya @ oA, e faert It I @l s faen fawm st

TR IgUA FA o T A TR .

(1) I = : (2) Torn ard

(3) o gl (4) I N

On May 24, 2000 Prime Minister Atal Bihari Vajpayee launched the Swarn Jayanti
Vidya Vikas Antariksh Upagraha known as
(1) Dynan Vahini (2) Vidya Vahini
(3) Saraswati Vahini (4) Dynan Prakash

163.

HRRR favamuER, SRl SgE/ wi e (T9) 8 arelieid! e g s ?

(1) e O o8 () U= SRaTdl, Seidd 9 e/ areee i o

(2) WM FRATET STHIR el A Aeg (q0) 9 HIEET Jeg (q1)

(3) Fore aamar @ GHE ATEIeA EUH) ATEf) TS I8 9 AT Jeg ()

(4) fira aRERaT F GHF ST STHOTAT T FETE A8 ()

According to Fourier analysis, any composite signal is a combination of

(1) Simple sine waves with different frequencies, amplitudes and phases

(2) Simple sine wave and cosine wave with same frequencies

(3) Simple sine wave and cosine wave with same amplitude and different frequency
(

4) Simple cosine waves with different frequencies and same amplitude

164.

T, Uh. A0 B FE FRR Aeedt Meihicd GETie 21, &= quras Ty gl
(1) IFcAieha AT (2) IFIE AW

(3) L (4) ek T

Protocols like telnet, FTP were some of the initial higher level protocols. They belong to

(1) Application Layer (2) Presentation Layer
(3) Transport Layer (4) Network Layer

THESdT HTHTHTA! STRTT/SPACE FOR ROUGH WORK
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165. SiegT soaeiTe: e fohan TRfeR aTre deeH-3 =1 FIawgan tEn seaeie i st

ET A IGRIC] TR
(1) fefoea oifre (2) fefoea @
Q) Tefea=ie @) fefea faz

means authentication of any electronic record by subscriber by
means of an electronic method or procedure in accordance with the provision of

sect-3.
(1) Digital certificate : (2) Digital signature
(3) Digital record (4) Digital symbol

166. T Wicehiered F21 gewd) € wTafacrean Hush Us W 33 11T Siegt 9 ®ud deet o Sl T:
(1) oTeT F 91 98T (T 1S 32) Wi
(2) oTem 3 91C 9&T ARQ WA
(3) T@I-N (M 5% N) Werkiet
(4) Ul TR Tehrd
The protocol in which error corrections are done by keeping a copy of the sent
frame and retransmitting of the frame when the timer expires, is called as
(1) Stop-and-wait protocol
(2) Stop-and-wait ARQ protocoi
(8) Go-back N protocol
)

(4) Selective repeat protocol

167. TO.A. I AR FOATES! e A 1 JETESET A9 HAT TR,
(1) www . STRRTRE . Sfiettedl. 37
(2) www. THRIRE . Sfetiedl. 3
(3) www. THTEREE. s3] 37
(4) =TI TR
To Book S.T. Tickets governments official website for Maharashtra is
(1) www.irctc.gov.in
(2) www.mrctc.gov.in
(3) www.msrtc.gov.in
(4) none of above
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168. PPP WIZIshict 81 Ush 182~ 370 SIeIhict 3T, SITHES Toivl Ueh aTse (3173 fore=n aqe) s I <,
SIegT CETET AT 221 T wehe B, deet dt Sl ESC (TEh) ST aT9% Hahiid shel ST,
¥ ESC sT5e AR. PPP Siiegvlt, gush fmiu gogreitar ST 9T,
(1) 10101010,5 (@) 011101116 .

(3) 11100010,4 . (4) 01111101,6
Point-to-point (PPP) protocol is a byte-oriented protocol in which a flag is a byte
which needs to escape whenever it appears in the data section of the frame. This
escape byte is . This PPP connection goes through
transition phases for establishing the connection.
(1) 10101010,5 (2) 011101116
(3) 11100010,4 (4) 01111101,6
169. 1 R < (e Refreet iR dam s I,
(1) usclter s (2) TRz H
(3) AFHAR (4) dFgE A
key is used to create digital signature in cyber space.
(1) Public (2) Private
(3) Local (4) Secured
170. 4 yHuEa Tociined, winfors &7  Sifvremes famree ormd. o i mear U

MU TS5 37T SATSRTUN T S ¥Tehal et Tl GUeat JaTioT SRl 7. Tkl Sic Tue et
T I3 /ORE S {90 3R FRSHT Stisd, o I3t/ areEmen TEOTATA.
(1) wieméa fea=in &3

(2) HEAEE HETSA EAR 9

(3) T Gehe FMAT HEAS

(4) AR FREAS FETH

In all mobile phone systems, a geographic region is divided up into cells. At the
center of each cell is a base station to which all telephones in the cell transmit. The
device which connects all such base stations in a small system is known as

(1) Mobile switching center

(2) Universal mobile telecommunication center

(3) General packet radio station

(4) Base station controller

HEedT HIHTATS! AT/ SPACE FOR ROUGH WORK
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(1) STAATIESTE THad 9 TUERs Ired S=amieht Tt T

(2) FeaTdeh! fovarard erfer T e ST

(3) Tl A HE FOM | yHOiia ey I

(4) =0 (1), (2) 3 (3) ¥ THA ST

“Secure System” means computer hardware, software and procedure that

(1) Are reasonably secure from unauthorised access and misuse
(2) Provide reasonable level of reliability and correct operation

(8) Are reasonably suited to prefer intended function and adhere to generally
accepted procedures

(4) All the above

172. @ I TR AR,
(1) F®EA (2) IEH
(@) (4) wrécH
A database is a collection of related
(1) Information (2) Records
(3) Names ' (4) Files

173. T J9915C S GUTITON TETE SUE=T A-d1gd vammn IRt fog e anfor St
g Trtedt Frefavamardt swn 3 da ot andia S mfed) <0 s o TR
T ITIFETd] Naeh! i w0 v AR faadh 3 wW € J9rse S, JAueET § IuWiEd
7 JeETEET AT AT feha FRHT A1 SeraTsea §: GH: He SUITE ST T ie. 3T SEarsea
N = <t [ 1[5
(1) o= (2) =R«
(3) TS (4) s
A website which is generally a primary point for a user’s online journey and serves
to help people find information and also attempts to provide as much information
and serve many tasks for the users as possible to encourage them to stay or to at

least continually revisit the site, is known as
(1) Portal (2) Vortal
(8) Homepage (4) Blog
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60 AN AN

B U 3797 YeIferd S 1R St HTTP gt (GET 2ot POST) = ft waferise
sR{uee (aftadl) aTaes sTediar e wifdt aTafad), 8 ST GEuTES TSR HHS] Ykl 7T
TEYHEY A HTTP fardes (¥ev) arued aftoms o wrafaa.

(1) ASP (2) JSP (3) CGl (4) HTML

is a program written to conform to a standard way of passing data
into an external program through the use of HTTP methods (GET and POST) and
environment variables and passing results back with the appropriate HTTP headers
in a format the browser can understand.

(1) ASP (2) JSP (3) CGlI (4) HTML

175.

gt wiTne A R 1 T el TR,
(1) WRHETE (2) Yewhy (3) 3fud e (4) 2T FEAH!
Secure socket layer was developed by company.

(1) Microsoft (2) Netscape (3) Apple Mac (4) TATA Consultancy

176.

3TN YeheHT FITHE 3202 Taiehied Uaal. B fewrda s &t A Y. ot /o, . a=3
I IR,

(1) TI=E TR (2) U TR

(3) T AW (4) AR IV AR

The official packet format of the packets to be transported is called the Internet
Protocol (IP). In TCP/IP this is defined by

(1) Presentation Layer (2) Transport Layer

(3) Internet Layer (4) None of the above

177.

Tl U TR 9N 3R St MW Ukl fAfewn=h anfor st v a9/
3, TS fehdll UTETE A JoTTefaed (AT foredim) favia amaard and) 2d, &
1 AR Ud. TG AT SO T8 S1a1 MW S T HRIGHAT I FoEr! Sedie

el FTATd T Tles FTSoNHEY Freiad STdTd, 3730 T8 TaET TEUTE.
(1) C #, FH-FUKH, TAT-37 (2) ST, JVM, sfeie
(3) HTML, Fa-3mdscH, Tside (4) C++, FIO-HITGH, evide

is a platform in dependent language that allows programs to be
written once and deployed on any machine, browser or operating system that
supports . Small Java programs used by web pages, that are downloaded
and run directly within a browser to provide new functionality are called as

(1) C #, Cross-compiler, plug-in (2) Java, JVM, applet

(3) HTML, Cross-assembler, object (4) C++, Cross-compiler, object

THoedT HIATETE! ATTT/SPACE FOR ROUGH WORK
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178.

15 97 2012 GTei! THd TR (HETE 359 1) T e Md hell AR AR W
WRATqeAT TEren dearéea faameraes ot (321, fomve) @ warrifiar fhar @ amfisf
Ve 1T Ayegeriven e serien T wesfr yefid sheft.

(1) T AR 5 e T

(2) THERIAT 48 THET=T A © forameree yeviH amafae wigs

(3) &M TE ¥4 g€ fofan Wt AfEw wramErsh e w8

(4) w81 TG TR g€ fohan a9 wRETaTE fiwn S

Government of India (Madras High Court) has passed an order on June 15, 2012
which if an objectionable content (e.g. Movie) is displayed on a website
hosted in India, without prior permission or intimation to the person directly or
indirectly associated with it.

(1) Bans the entire website

(2) Stops objectionable display of contents within 48 hrs. after complaint
3
(

4

Imposes fine of 2 lakh rupees or 6-months of imprisonment

)
)
)
)

Imposes fine of 10 lakh rupees or 2-years of imprisonment

179.

is a process of extracting information and data from computer
storage media and giving guarantee regarding its accuracy and reliability which
can be preserved and presented in manner acceptable in court of law.

(1) Cyber law

(2) Cyber forensics
(3) Cyber search
(4)

4) Cyber attack
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180. T FTUFTEER $-UAel WRATHEY T qaeAT3! T A HTeqHT= el fdar 3T, I 1y
I T A -0 T ATERITES TG d AARG (YHA) el TS Ihdl, TR A=

HIIRIN FEATETS THiTq ST TEU[ AT el ST Tehal). @ Af¥rees e
AT AT AT, )

(1) IT sAfrfam 2000 (2) 1T fa&== 2006

(3) IT fadss 2008 (4) T Hiorae] AT

The act legalizes the e-mail and gives it the status of being valid form of carrying
.out communication in India. This implies that e-mails can be duly produced and
approved in court of law, thus can be regarded as substantial document to carry out
legal proceedings. This feature is introduced in

(1) IT Act 2000 (2) IT Amendment Bill 2006

(8) IT Amendment Bill 2008 (4) None of these

181. (eDh D) ® 3iwfiohy e o Ui Fsfia a fasdiad EMR (3. 00, 3R.) RREmE s7a 3R
Iredfiet eDh D = 31ef @Al & IR,
(1) 3-g=at ey
(2) 3- g=al SHHEF
(3) 3-u=ad feeawm fafen
(4) 3~ fegméa
(eDh D) is an application which is web based with centralized and distributed storage
of EMR clinic developed by media lab asia. What is the full form of eDh D ?
(1) e- Dhanvantari Distributed
(2) e- Dhanvantari Diagnostic
(8) e- Dhanvantari Detection System
(4) e- Dhanvantari Design

182. aF=grare fudhan da TR srfha sTacielt agTdis W ST WA Fod! FRYHEIH

fam HEIS
(1) TeHIT (2 T.HIT
@) W93 T (4) ¢339 I

is an archieved multilingual question answer based communication
system in Media Lab Asia for farmers.

(1) a AQUA 2) AQUA
(3) IQUA (4) AUQUA
HeedT HTHTETS! ATTT/SPACE FOR ROUGH WORK
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183. WIfed-Ta9H &S U HaT= IAM I 11 I HUET AT ST
T Mufa 7 et mizd € fafhaem @a:w smaem sadgia Fean oreae @ foaeia
TEEITE TG el Ardl. SMHRHHE &1 I a1fieh 10 § 25 3T Sier 3T 38 571 ferart
15% 3 aTed oTTR.

(1) el T1aT 3T Turet

(2) Jufra TafF=

(3) Al mfeet syaEe Yot

(4) I Jufry =rdwm qurmedt

One of the well known business created by Information Technology service is the
where up-to-date, confidential patient information is converted from

voice recorded reports as dictated by physicians into text format. In United States,

this business is estimated to be worth US 10 to 25 billion dollars anually and growing

15% each year.

(1) Medical Voice Recognition System

(2) Medical Transcription

(8) Medical Information Management System

(4) Biomedical Vortex System

184.  wifecl TagTe fHeh TaTeed IUTHES WY HETH! 37T, ST faearishi wuardTad! Fafred,
AW AT giedied & 99 wifedl qageen A1 Samed 9o S Aed. e I
Toram &t @relierdsh! v Jey Hewrat T ¢
(1) Ioaeie WRed ol T3 &9 (2) @vrehid TRToft gitgotar s
(3) Tafrcarer ol Teme qomet @) =a ud
IT plays very important role in the healthcare industry. Doctors, clinics and hospitals
are making use of IT in day-today activities to make grow the business. Which of
the following is the important issue as far as healthcare industry is concerned ?

(1) Electronic Health Record (2) Computerized Provider Order Entry
(8) Clinical Decision Support System (4) All of above
185. Tidin e ufvmm s, Y. = omm enht ofeere fawdin T &eft o 9 1|

HTe.

(1) 3-¥m (2) -7 (3) Sr-a|w (4) -]

is an ICT based personalised agro advisory system developed
by Media Lab Asia.

(1) eSagu (2) bSagu (3) dsagu (4) I1Sagu
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186. TUEiar o ThEm Sien sra=Tar dar ! ffedm IR,

(1) g-me (2) - (3) 3-foremm (4) 32
' is a low cost retail management system developed by Media Lab

Asia.
(1) e-Galla (2) 1-Galla (3) e-Business  (4) e-trade

187. M d9 T IeTF MSVATETE T HIfEet TR T qut et wehT wifed} aEe
T Erehierdshl SHIvTe! T Y4 et aTfEsd ?
(1) ITAga (2) wifedt=h o
(3) I favme /a7 (4) w0 o
Which of the following resources should be provided by the IT organization to
achieve the business goals and objectives and meet the needs of the data
governance organisation 7
(1) IT Leadership (2) Data Quality Lead
(3) Enterprise Architect (4) All of above

188. U T AW GEAR AT &1 Wieelt dgr=a 9ramd wrevh Wil U Y@ uee e, &
FEAR SR e 3TiR. HifEd! OAgH HieeaeT ¥, $eE A
HIfed! G AIEY G giawT (ITES) § miwd M=t TRm{g wrevi= Y@ I 374
(1) V-SAT yrmg wiesf} 271fo ISP (2) e i ISP
(3) TSgHE T TR (4) TogEe afor ISP
The main constituents of IT infrastructure are tele communication-backbone both
national and international. They are and AT
software and service including ITES and internet are among the major users of IT
infrastructure.
(1) V-SAT infrastructure and ISPs (2) ERNET and ISPs
(3) EDUSAT and ERNET (4) EDUSAT and ISPs

189. IcE AT{E I HIHICIH AT TEAH T T4 S
(1) ooy gocq Tocq Hi (2) sxq3 4
(3) S=qH3 (4) &4 (1), (2), (3) s
World wide web consortium is known as
(1) wwwc (2) wsge

(3) wc3 (4) all (1), (2), (3) are correct
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190.

3.9R.f. fodin € warn sy T 3 aelia Faene FhEvH e ie sEad o 91
3.9R. 9. Redeht of wie AR,

(1) FX IS fegi| vt (2) T g wnfan

(3) TR framE wnfam (4) TV T T AT

ERP system integrates Internal and External MIS (Management Information System)
across as Entire organisation, here ERP means
(1) Enterprise Resource Planning (2) Expert Resource Planning
(3) Export Resource Planning (4) None from above

191.

it & wfvrn o fafifa, 39 s e el e yomeft S v foemeat=h migd oeqm
3ad, GATETE! goh-HTeT ITATa0] TR Fd, Terentn firpfavarand w ymaeedt @ Sgeases
T fmfor &= < o71for St ee srvresmETda T e TS Tgd ST it g
FEA I, & YU 3R,

(1) @R (2) TErf= (3) fereror (4) Terfareror

The web based intelligent tutoring system developed in Media Lab Asia. Which
stores all the information of the students, provides interactive environment for the
children, provides platform to teachers to make teaching effective and interesting

and provides facility to present the same courseware in different forms is known as

(1) Sakshar (2) Sahayika (3) Shikshan (4) Sishushikshan

192.

AT et & gufveror Soen weer feee e anfir fesfiee R e (e dweh)
wrafavamEd, Tifara/ g wrvamre, faawr wtoemane!, gEiewmmaet 3 faum svamers
2 Th U fesfiea wien R,

(1) -3 (2) dmrq :

(3) =8 (4) =G weHel TR

is a National Digital Repository to store, index, preserve,
distribute and share the Digital Learning Resources developed by the open and
Distance Learning Institutions in India.

(1) e-Gyankosh (2) Sakshat

(3) Vyas (4) None of the above

193.

H-TF 7 ATTRIATSHH o TTFAI TIR hicl T8 AT 719 T2,
(1) st (2) v (3) mgETw (4) W

is the name of software developed by C-DAC for Oncology.
(1) Sanjeevani (2) Tejas (3) Ayusoft (4) Mercury

el HIHTETST ART/SPACE FOR ROUGH WORK

A

P.T.O.



EO1 | 66 AR

194, ALY LANATEL ST ITHEAT IIOTH Bt d Teurt v (@di-fagh). arefiats wive 3
AR (TUH) 1 TG Hed ATE ¢
 a) YOS qUR SIS AR QE-FE (TgEd)
b) susrErie Hifget

)
c) quaT AT/ T TTEhREeT gadTg
d) TU=AT JTETEeA Tl TIET Sheled g SAINE
e) ! wufia difeen arawan fohar amyRre wifeen
(1) a),b)e) (2) ®d a) (3) ®de) (4) a) @ford)
On the web, everything that affects the visitor is marketing, which of the following
can not be called as a part of web marketing ?
a) The source code used to design web pages
) The content on your pages
) Your interaction with visitors
) All the experiences you provide at your site
)
)

© O O T

Whether you adopt dedicated hosting or shared hosting

(1) a),b),e) (2) Only a) (3) Onlye) (4) a)andd)

195. H1-SF 7 A9 OIF THIATSIGER FATHE 9H FRAI TGN Fd AR A A7

TR,
(1) TS (2) T (3) Wegd (4) =TI ATER
C-DAC'’s first open source free software suit to establish cloud is
(1) Varunraj (2) Meghra] (3) Meghdoot (4) None of above

196. WTATATHI FHIUd SATSHHTETATS Tl HHT &5 Iehel ATET ?
a) ATV FTdT J qEE HEso fiesu
b) AR g e TEATIR Tyl Yo s=a
C) MSETHTHR HIt =T YE IS A& held F& Tehd
d) Toras S stifeedar oo sreseafdn gfwEsHde fofa gfwa
(1) % b) (2) b)amfid) (3) a)amib)  (4) % d)

Which one of the following cannot be considered as an effective cause of outsourcing ?
) Access to needed skills and technology easily

b) Overall cost savings for outsourcing projects

¢) Companies can focus on their core business after outsourcing

d) Uncertainty on quality control and decision making to outsourcing projects

(1) Onlyb) (2) b)and d) (3) a)andb) (4) Only d)
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197. WIATAIH! Vet FROTHS Yediaiad] 3-F=R1 TY Tig=n TG ared 3712 7
a) TIATHGEA I FEd
e b

O

)

c)

d) grEsia STy

(1) a) 37T d) (2) % a) (3) a)3mfirc) (4) F0a &3

Which of the following has resulted in a fast-growing surplus of e-waste around the
globe ?

a) Rapid changes in technology

b) Changes in media
c) Falling prices
d) Planned obsolescence
(1) a)andd) (2) Onlya) (3) a)andc) (4) All of above
198. WRAWE M FEM T TS H- ek I IR ST <9 Wfaaed safeTdi,
T o TIER § SATEETEIE g5 35 HUATaTd! e Fell 3R,
(1) &1 (2) AA.T. L A
(3) 3-T® (4) ¥4

C-DAC launched the Indian National Grid Computing named
with vision to facilitate solution to scientific, engineering
and socio-economic development.

(1) GARUDA (2) INGCI
(3) E-GURU (4) EAGLE

199, TfE=aT vafator Giarvr IETER (EPA) Tdimds S0 soaeia a&g & gard sied
FTETIF $- %R TeV O] S 7
(1) gwoTEaHt (2) dt.3m.A. Aifed
(3) ThisRed (4) wremd |
According to United States Environmental Protection Agency (EPA), which of the
following electronic item is considered most hazardous e-waste ?

(1) Mobile phones (2) CRT monitors
(3) Refrigerators (4) Processors

200. HATTEE 2010 1 TAREIHR afsirenta HEIRELE: IS
(1) 3-3M¥R (2) 3-g=aad (3) FEI-TEX (4) g

In August 2010 in the telemedicine sphere a system was introduced known as

(1) e-Doctor (2) e-Dhanwantari (3) hello-Doctor  (4) Dhanwantari
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- (8) iy e o fafite S oea oM (16 %) HUY. TeAgReaidied 3atafishat
1 S FHIIETE Thodl HH Fod d Hidt FOITAT IIH Fo AR, 38 THS Taet 9 o
SHETRIER AT ST hetedn e o= AR Siday s arfufag-g2”
ITeiiet TRITEN HRATS HOATT 5 T S HFll ST Toh YA shiCargr=aT 17707/ et Tt
Teh TR =1 STl fH1ehg O e,

(9) "R yerufrFaE! ErmA fifea Fdet do GueaHat SHeIen ¥ Yy Wa: s
TATRITATRR W3 FI0TE W 3T, ATH WISATReTTaTer ATuaTgd] SHearT et
IAATIEHET WA - 1 AAgETRe 7 faawar wa w0 sravas o

AT 99
Y. %. 201. G I T FOIERET IR goAd: WA F 7
(1) =t gare e (2) Svaaz faamEmr
(3) TSI UEHIEA U9 (4) MISFE TESH

T AR IR (3) THTOHARA UF | 78 37T, e 1 79 3 () 2. aras
WTATH T I3 %. 201 9ORid ST-50F Q) © Jde I DTAThd HEA gra i
IEEF AR,

9.%.201..® @ @ @

I T T S feiheliel Sedieh ST g STHHHIS & graTell Edsiic [iasiear
IR o1 o YHSHHIHHIRIA FEd I QU0 SRITehd HE argaTar. gITehiar
e AT ST AT ST, Afe a1 g O JTas 14,
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